Model for Coulomb friction system 
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1. What is difference of the vibration between the following two initial states? 
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When 
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2. Solve the above problem by the method of phase plane with the properties of 
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  How much time for the rest?
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When 
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3. Setting the initial conditions of 
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Plot the kinetic energy 
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Plot the strain energy 
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4. Explain why we call the interval of 
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  Also, is there any dead zone in 
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5. Discuss the influence of Coulomb damping force, i.e. the influence of the magnitude of 
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When 
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It won’t move.
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